ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE

EXAMS
Trade Name: Turner
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)

3. There is no negative marking

Max Marks : 100

QID Question Body and Alternatives

TRADE THEORY

1 Parallel blocks are used for.........

AR ATP] BT ITANT ... fearsmar g

Al : setting work piece for machining

Tfif & fore et S A & foe
A2 : setting work piece for measuring
AT & T g e oA & forg
A3 : avoid to keep work piece on the floor
BRI R THUY Y& 3 g9 & g
A4 : avoid to keep machine accessories on the floor
R} IR AR SRNCT XE ¥ g9 & fog
. ./ TRADE THEORY
2 Carbon percentage in a HSS tool is........
TH JUGRU A BT ........ EIRRIGES
Al :1t02%
1t02%
A2:0.6t00.75%
0.6 to 0.75%
A3:0.2 t003%
0.2't0 0.3%
A4:0.75t0 1%
0.75 to 1%
TRADE THEORY
3 A steady rest is used to......

TP RIXL BIITN .......... frar s g

Al : hold jobs
STd &1 Uhs & forw

A2 : true the job

BEEIFERE AN

A3 : drive the job

il o1 Gebel ob o1

I Negative
RS Marks Marks
AV 4 10 |0.00
1.0 0.00
1.0 0.00




A4 : support the job

BEEIRHNEECARIY

Pads in steady rest is made of..........

VST HIREIEC ........ CERICEA

Al : carbon steel

Pl T

A2 :lead

A3 : mild steel
e Eid

A4 : brass
EINE

A2 : shank

A3 : top of the square
TR & Y U TR

A4 : bottom of the tap

0P e TR

3 or 4 teeths are chamfered in the tap is..........

A a1 TR gid 9Tl B S U P e g?

Al : taper tap
TRy

A2 : plug tap
®RT T

A3 : second tap

A4 : machine tap

Spot facing is the operation of........
Wi BRI Ui g1

Al : enlarging a hole to a given depth
A HEN

A2 : machining of the wall surface of a hole

IR & Ydg WA I ¥

TRADE THEORY

TRADE THEORY

~ TRADE THEORY

TRADE THEORY

0.00
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10

A3 : machining the face surface around the hole

I 3 U &1 T8 B D¢ BT

A4 : enlarging a through hole
¢ & q1EH Sl IgH

TRADE THEORY

30 9% &1 U WRIe & Taveid RuSd B fHaa T ol 82

Al : knurling
E [

A2 : morse taper sleeves

el ¢ f&erd

A3 :adrift

A4 : a pinion and key
& fafe oiR g

TRADE THEORY

A wide range of regular and irregular shaped jobs can be held in......

faftr v R & Fafia iR ifafid SR & S 3 fHE UhsT o Tobdl 82

Al : four jaw chuck

4 TPH

A2 : three jaw chuck
3 TS

A3 : two jaw chuck
2SN TS

A4 : compound rest

PSS I

TRADE THEORY

To prevent the chuck from damaging tﬁe lgthe guideways while mounting.........

BRIC MES B 9 I G 7 U U T P HIST P & o8 1 3 61

Al : lift the chuckswith ahand crane
T1Y 5 ID PLSSHT

A2 : ask'the instructor or foreman for help

UfN&P I BRAT A Heg HTHT

A3 : place a wooden block (or) board on the guideways

D! BT SIS Ul I [QRMGR SHTIAR &

A4 : support with a screw jack
TP A A TGRI AT

TRADE THEORY

A tumbler gear is provided in the gear assembly unit is to........

iR efiaeh gfie A ue foraR R =i fean o 21

A1l : change the direction of feed

BIe B e gga

0.00

0.00

0.00
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15

A2 : transmit the motion from the lead screw to the carriage

TR TF I 71 BT ol Pl 3R BRAT

A3 : change the direction of the chuck
ECCANCRIECE]

A4 : change the spindle speed

Wi & i Sea-r

TRADE THEORY

A1:0.01 mm
0.01 mm

A2:0.02 mm
0.02 mm "

A3:0.001 mm
0.001 mm

A4:0.2 mm
0.2 mm

TRADE THEORY
The thread angle of a metric V thread is....... 1.0

TP Hied v 48 BT B0 1 B

Al:30°
30°

A2 :47%°
47%°

A3 :55°
55°

A4 : 60°
60°

TRADE THEORY

Which one of the:following statements is not true with respect to multistart thread cutting? 1.0

FafREd A Y ®IT HoUT A ©IE I8 HIcT & Hee 7 He1 o1 o

AlwrThe starting points of the starts are equally spaced on the face of the work

WIEG.H Y31 3ieh THM U Y B S g R WM g mang

A2 : Multistart threads can be cut to any form of threads
& fopddt oft =0 Frer S aHar g

A3 : Not limited to the pitch of the thread

IS ! Uia do Hifid el §

A4 : Only R.H multistart threads can be cut
FIA R H ARICTC ISH I PIeT o Fhal g |

TRADE THEORY

The values of crest and root of multistart threads depend upon the............. 1.0

TRRETE 959 & RRIR 3R &8 F I g R R e §2
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Al : thread angle

IS DI

A2 :lead
A3 : pitch
o=

A4 : helix angle

The purpose of screw threads in the lead screw of lathe is

TS & AS T 7 & IS &1 A1 I &2

Al : means of measurement

HIY T J1Yq

A2 : lifting

RLIEEANIY

A3 : transmission

BEITAROT

A4 : fastening

it & forg

In thread cutting mechanism the half nut is

I Ble & T | BI ¢ 182

Al : detachable part of the saddle

o o faaiore fe=ar

A2 : an integral part of the saddle
TA BT D S 3T

A3 : an integral part of the apron
T &1 TS I 3T

A4 : a detachable part of the apron
T &1 T qelior fowt

The includc;d ;ngle of groove of V block is always...........

V 1% PG H 3TIZS B0 R 2|

Al : 60°
60°

A2:90°
90°

A3:120°
120°

A4 : 140°
140°

TRADE THEORY

TRADE THEQRY',

TRADE THEORY

TRADE THEORY
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22

20

21

22

The shape of files is stated by......... 1.0

TIST B SMPTA BT Ul b TR TR 82

Al : length
A2 : width
A3 : cross section

SIUR] I

A4 : thickness

TRADE THEORY

In order to defects the cracks in a grinding wheel the test adopted is......... 1.0

& et & T 3o e g T o GRRY BT UdT TR b ... PR § |

Al : hardness test
TR

A2 : X - ray test
X X e

A3 : soap water test

g U= ateqor

A4 : ringing test
BRG]

_ARADETHEORY

Which is represented by the symbols V, S, B, R and E? 1.0

V, S, B, R 3R E GRT &7 <2101 7747 32

Al : Grade of the grinding wheel

TR uRTaT IS

A2 : Bond material
s gradt

A3 : Silicon carbide:

A4 : Grit size
1€ 3™

TRADE THEORY

While machining cutting edge of a tool passes over the material in a minute. This is known as...... 1.0

AT % THg 7 & fFTR U e A el F SR A TR WA 8139 ... F =0 T AT ST ||

Al : rpm
rpm

A2 : feed

A3 : machine speed

ERIECIRIIT)

A4 : cutting speed
CIRIIG]

0.00

0.00
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26

23

24

25

26

TRADE THEORY

In part of the universal surface gauge which helps to draw a parallel line along a datum edge is called? 1.0

i Tdg o & TR T S U THMTER 3T 1 TS 4Tg YR & 1Y Wa- T Aeg BRal 8, 39 71 Hel Sl 82

Al : Rocker arm

R 3

A2 : Snug
kst

A3 : Fine adjustment screw

A4 : Guide pin
mes U

TRADE THEORY

Afefrr SR I R?

Al : shearing
A2 : forming
BRI

A3 : turning

A4 : pressing

T—EABE THEORY

To put off class C fire, the type of fire extinguishesused is.4....... 1.0

A C BRR B 3 B g b [ TN b T SR e UeR ......... B

Al : dry powder

A2 : carbondioxide

PIE STHES

A3 : jet of water

T BT YR

A4 : foam type
<rRU

TRADE THEORY
Safety can be effectively expressed by.......... 1.0

WD ........... I} &1 Y e {31 S S |

Al : showing unsafe actions of an individual

el o1ty ) ORI TEHA &R

A2 : showing the correct action of an individual

Tt safert b1 W81 BRepel

A3 : showing the action of skilled worker
SR DRITR B gl

0.00
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30

27

28

29

30

A4 : showing unsafe action by posters and safe methods practice

TR 3TR gRef faferl & SRR grepall Y I

TRADE THEORY

Which type of chip formation formed while turning brittle material........

TR TRl &1 WRTE IR T {34 YR @t feraest fmfor giar 32

Al : short curly chips

EICKISIEE

A2 : segmental chips

S

A3 : Tong curly shaped chips
TAPR fers

A4 : spiral chips
YHIAGR B

TRADE THEORY

Which one is the correct formula for the spindle speed (N) of a given job?

ot fou 7o wite o Rysa &1 7ifa (N) & forg et e @ 89

Al
: T=xC3
~ 1000 xD
A2
: 1000xD
N = it
%55
A3
: m=DxCS
CN=——1——
1000
Ad
. 1000 =C3
Ne——m—7m7 "
=D

TRADE THEORY

The most impc;ant b;sic quality of a cutting tool material is........
BT F Iq B UeY AeaqUl g o o 82

Al brittleness
HIRT

A2 : malleability
A3 : elasticity

A4 : toughness

TRADE THEORY
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32

33

34

31

32

33

34

Al : mounting fixtures and work pieces

fheRR 3R B WU B AIS< B & g

A2 : driving shaft between centres with a lathe dog

AY ST Y Hgl B! dF TG FATT

A3 : facing operations only
HId TATer BT JEAT HRAT

A4 : internal operations only

ELNEIGIRCRSEINE

TRADE THEORY
A face plate is used to hold a.......

T By We BT IUANT {59 o) Udheq & forg fovar srar 22

A1l :around job

e SiTe 1

A2 : a finished job
AT fohd T TS B

A3 : an irregular job
BIcEa

A4 : ahollow job
felreRiTicEal

TRADE THEQRY',

A follower steady is held on the.........

TP BIdeR R g W Smafrd fobar sirr 32

Al : lathe bed
WG I8

A2 : lathe carriage

A3 : lathe spindle

A4 : tail stock
A wid

TRADE THEORY

A follower;t;idy has.......

T BIdsR R A RTEIAI 82

Al : 4 pads
478

A2 : 3 pads
3fe

A3 : 2 pads
288

A4 : nil pads

s

TRADE THEORY

Which statement of the following is correct about an independent four jaw chuck?
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35

36

37

FRafifed & ¥ H19 91 HYF T Wda IR o 9% & IR § T8 ]2

Al : Tt is not to be used for round jobs

g T Sid P U sXwTd ) fopan s =nfee

A2 : The jaws move simultaneously

Siq Th Y Ted §

A3 : The jaws can be reversed and assembled

ST See 3R b fhd ST adhd §

A4 : The jaws cannot be operated in the reverse direction

e B Iect femm & Feferd gt e AT

TRADE THEORY
The gap bed lathe is used for turning the..........

1y 3 W1 73+ &1 ITANT fb g TR ) e & fore e S @1

A1l : lengthy work piece
T

A2 : large diameter work piece
RSl =™

A3 : irregular work piece

A4 : long taper work piece
o IR

TRADE THEORY:
A drift is used for..........

T f3ue o1 SamTd foy for foar sar 21

A1l : drawing a drill location

Teh &1 ®IF g1

A2 : fixing chuck on the machine spindle

TR & R 9 T &

A3 : removing a broken/drill from the work

T ¢cl 5% fod BL.HM J6eH

A4 : removing the drill from the machine spindle

oiH s a.g

) | TRADE THEORY
Solid‘type tap wrench is.............

B UPR &b U I | AT B 82

Al : not adjustable to take different sizes of taps

T & AT 3R o1 & o e T8

A2 : suitable for threading holes in restricted places

yaatid e & e ham & o Sugs g

A3 : opening of the jaws can be adjusted to take different sizes

Y @I el SMHRY &b e P g THfra 21

A4 : wrong length of tap also possible
T 1 T das H Ha gl

TRADE THEORY

0.00
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41

38

39

40

41

What is the special future of the radial drilling machine?

Xfeaa fefer wf &1 fady wemr w2
Al : it can be used for drilling with a HSS drill
T Hss foa & ary {3 & fom s frar g
A2 : table can be moved and set at any position
T ! foredt +f Rufar & wiraia 3%?@'6]%7‘!“51'@%
A3 : avariety of speed is available
fafte UpR @t T Suasy §
A4 : the spindle can be brought to any position
o3 Y foradt ot FRufay & wren ST A paT 81
TRADE THEORY

A slight convexity is given to the cutting edge of chisel is to.........
IR g B0t 3 it bR IR il Bt ol 21
Al : cut curved surface
H3 g3 a8
A2 : cut sharp corners
TS DI DI PIC
A3 : prevent digging of the ends
RRY 1 gars &1 A1
A4 : allow the lubricant to enter
HIGP B! YA HA &

_ARADETHEORY

The sizes are based on which the dimensional deviations are given isrcalled...........

R STHR & SHTYR TR S e gid1 & dghd [l Sdr g |

Al : actual size
EIESIECREItI ]

A2 : basic size

HAYd HY

A3 : minimum limit of size

STHY BT A

A4 : maximum limit of size

S{TATT B

TRADE THEORY

V blocks are available in grades of..........

wiTep fob 1 Je 9 B Suasy g1

Al:Aand B
A3RB

A2:A, Band C
A, B3R C

A3:1,2and 3

1,2 3R 3

A4 :1and2
131k 2

0.00

0.00
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45

42

43

44

45

Hand files are made of.......

FUKAR I E S— JITA eI

Al : low carbon steel

A BT T

A2 : medium carbon steel
HEH

A3 : high carbon steel
3

A4 : high chromium steel
3

N

The point angle of prick punch is...........

YT T BT g TR

Al:30°
30°

A2 :45°
45°

A3:90°
90°

A4:120°
120°

Under the terminology of the BIS system of limits the term tolerance is defined as the difference between the

BIS JUICH &) AsaTaci & STHR JRWT Bl 3R & =0 & uRIfvd fha man g1

Al : maximum limit and the basic size

3fAeHar T 3R T ATHR

A2 : minimum limit and the basic size

TATH T IR I BTBR

A3 : maximum limit and minimum limit

SHfAHIH AT SR A T

A4 : actual size and the basic size
JRANAD MHR 3R T 3MBR

The fine pitch length of the hacksaw blade is

YT IS BT T g s R |

Al :0.6 mm
0.6 mm

A2:0.8 mm
0.8 mm

A3:1mm
1 mm

TRADE THEORY

TRADE THEORY

TRADE THEORY

TRADE THEORY

0.00
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48

49

46

47

48

49

A4: 1.4 mm
1.4 mm

TRADE THEORY
The opposite end of pan head rivet is usually finished to the snap head. It is used for........ 1.0

U9 B¢ e &1 faudid TR AR R AT RS W JHIW BT & U8 [hads 7w ST # e 2|

Al : light fabrication work
TbTR] FrHfOr BT

A2 : light structural work
UDRI AXIATHD HIH

A3 : heavy structural work
HRY SREHATHD BH

A4 : sheet metal for fabrication

fmior & forg e urg Y

TRADE THEORY

Surface plates are used for marking because........... 1.0

Y Wed BT SUTNT AT & o fpar siar g @ifes ...,

Al : they can withstand the weight of have components
CH| b FoI P THAT IR Gddl §

A2 : they have large surface area

I U §S Tag & g

A3 : marking tools can slide over easily
3T JUBRUT ST & HASS PR TP o

A4 : To provide the datum surface

SO FdE U B §

TRADE THEORY

Outside and inside callipers are differentiated by.......- 1.0

TIER 3R SR P IR BT B fANfed fovar s g

Al : shape at the leg
R W HR IR

A2 : type of joint,
SIS BT YPR

A3 : shape at the head
RRWR & efpR

A4 : type of adjustment
PIUDPR

TRADE THEORY

The calliper meant for measuring the diameter of bore.......... 1.0

IR P I F AR & e forg SR o1 Suai fear srar 21

Al : jenny calliper
S

A2 : odd leg calliper

[EREEREINEN

A3 : outside calliper
STER BT BIAR

0.00

0.00




A4 : inside calliper
F R

TRADE THEORY

Finger stops are positioned.............

TR w7 HY A1d B4 B

Al : radially

A2 : axially
EIERRSEK]

A3 : tangentially
o= X

A4 : squarely
qIRPR

N

TRADE THEORY

Inspection aims at..............

e H R IRT R

Al : segregation of defective components

S Ut gedh! B ST

A2 : conformance of rejection

sredipfa 1 gf

A3 : prevention of rejection

A4 : sale quality goods
[CIEERIUECIEIRIS

TRADE THEORY

Helix angle is formed on the ........ &0

LT v by R T B4

Al : lathe bed
RERCACES

A2 : square'threading tool
1 AT IueHoT

A3 : square thread job
SIC|

A4 : taper attachment
TR I

TRADE THEORY

Multiple start threads are used on...........

AU WIe dsd &1 SuaIT fped) fovan s 82

Al : vice spindle

a5y fisd

A2 : lathe spindle
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57

54

55

56

57

A3 : standard nut
5 qE

A4 : pen cover

TRADE THEORY

Al : the large diameter and the length of the taper

TR P TSI BT 3R T

A2 : the large diameter, the smaller diameter and the length of the taper

TS I BT A 3R TR B! TS

A3 : one diameter and the length of taper

U T 3R TR & THaTg

A4 : large diameter and the smaller diameter of the taper
ST AN 3R TR P BIeT A

TRADE THEORY

The change gear must be done only when.............

TRad= iR &1 Iuai avt feear s =g oo

Al : the spindle is running

NEREEN

A2 : the carriage is moving

JEN S G 61 ©

A3 : the lead screw is running

oo U9 =@ 8

A4 : the machine main is switched off

=i B A5 9 B

TRADE THEORY

Trepanning tool is used for...........

fUf o &1 SuarT R AT STaT |

A1l : small boring
e ]

A2 : steprboring

A3 : bigger size holes
EERIESTG

A4 : blind holes
RSS Bl

TRADE THEORY

While cutting metric external threads of coarse pitches it is advisable to swivel the compound rest to

9 Hre O & B 2Mefd 98 &l e & forw Jarg § It 81 99 HUIss e & 59 B0 IR Fe fova S g2

Al :45°
45°

0.00

0.00

0.00
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58

59

60

61

A2:30°
30°

A3 :60°
60°

A4 :90°
90°

TRADE THEORY

Centre gauge is used to............

Yoz T 31 Iua oy forw fovan ST 82

Al : check the pitch of the thread
IS 1 U= Y oifF BT

A2 : set the tool at the correct centre height

JUBRY Bl TE Hg S W I HAT

A3 : check the fit of the thread

S @} fthe B ST HAT

A4 : check the angle of the threading tool
AV IUBRUN & BV DI o1 g H=eAl

TRADE THEORY
The length of turned tapers are checked with....

T3 GU TR B TS B S fohdeh GIRT 1 Il 82

Al : Micrometer

EEIECIRSI

A2 : Vernier calliper

A3 : Inside calliper
ERRIECEaRN

A4 : Dial test indicator
TEd X gAfedhex

TRADE THEORY

Angle slip gauges are available in sets. Each set consists of degree series, minute series and seconds series. In a standard set, the
number of pieces in the seconds series is...........

PO 1o Te 7 Jude 31 Tl Je F 37t o, e gt 3k I 4el 3d € T A e A Ybs yadm § cbel
P e fpa 3 B

TRADE THEORY

Which one of the following engineering components, is subjected to tensile load only?

fafafea & @ o w1 ol ges, Faa R UR F S 82

1.0

0.00
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65

Al : Lead screw of a lathe
TH TRIG &1 s Ug

A2 : Bed of a lathe
TS W P [GER

A3 : Metal ropes

o1 Bt T
A4 : Rivets
TRADE THEORY
Files are made with different cuts. Which one of the following files have single cut teeth? 1.0

T3S 31T 3T e & 1Y 915 715 o | Fufafed 7 3 feg wea # Rima se aid g2

Al : Triangular saw file

BYeTPR 97 BrEd i

A2 : Hand file
gS BIgd

A3 : Half round file
BT 38 BIRA

A4 : Square file
LEr

TRADE THEQRY %,

You have to file an aluminium job. Which one of the following cut of file you will select? 1.0

3T ! T TegHias ST Bred - 8 1 370 30 A ¥ fra g g

Al : Double cut
B hc

A2 : Curved cut
HdE BT

A3 : Rasp cut
W HT

A4 : Single cut
R e

TRADE THEORY

Scréw pitch gauges are available in both British and metric standards. They are available in sets comprising of a number of blades. | 1.0

U o et fafewr 3R Hifews S A o Suesd § | T 08 1T S ..o A g

Al :M20
M20

A2 : M20* 3
M20* 3

A3:35
3.5

A4 :M20*2RH
M20 * 2 RH

TRADE THEORY

Which one of the following work holding accessories is not used on a capstan lathe? 1.0

fafafed & ¥ 19 1 SIaET ST HUked TRIE TR WA 8! [T Sl g |

0.00
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Al : Collet chuck
b

A2 : Turning fixture

A3 : Three jaw chuck
3 TS

A4 : Catch plate

TRADE THEORY

The graduation are marked at the base of the tailstock. To offset the body these graduations are given in......... 1.0

AT BT MR TR AT | 3T B B fbe o1 R fafea fparsmar g |

Al : degrees

A2 : taper per foot

TRUM Ge

A3 :mm
mm

A4 : radians measure
& I

TRADE THEQRY

Thread snap gauges are used to check external threads. The anvils.of'the NoGo, end are in the form of........ 1.0

TN IS DI 9Iid P 11T S WY TS BT SUANT BT FALg| =11 M US/0h A b Ra% ... FUA GBI

Al : truncated and less number of threads than the Go end

TN BR B g1 H A 3R V9 Bl WA AT

A2 : sharp at crest and root

fRrar 3R T8 WA

A3 : rounded off at crest andyroot

R 3R s W T

A4 : full form and lessnumber of threads than the Go end

T SR B g gof ¥ SR 9 3 B g

P \¢ TRADE THEORY
The turning time is calculated by applying a formula related to the length of travel of the tool (I), number of cuts (n), the feed rate (f) | 1.0
and the rpm (N)

%ﬁnmaﬁm@mmaﬁﬂéma)maﬁmm)uﬂg%m 3R tpm (N) Y TR BT TF] P 1 Sl
[

Al
T fxn
Turningtime= ——
ixI

A2
fxi

Turningtime =
nxl,

0.00

0.00
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70

71

A3

Turningtime = 14
fxn

A4
fxi xl;

n

Turningtime =

TRADE THEORY

For which one of the following operations, tooling can not be done on the turret head?

9 & 9 v ufthan & e effivT ore &8 W e &t o Iadl g

Al : Facing and centering

FHfgd 3R BRI BT

A2 : Chamfering
A3 : Knurling

A4 : Precutting prior to parting off
3T B Y Ugd Prel

{ TRADE THEORY
The spindle rpm for finish facing a work piece of 160 mm,outside/diameter and 70 mm bore diameter is to be calculated. What
should be the value of d in the formula?

;ﬂ%ﬁm%ﬁn%ﬁwm 160 mm STEL/ITE QT 70'mm SR A & FISH rpm P G GRT & BT & | SHY d b1 {1
|

Al :70 mm
70 mm

A2 : 115 mm
115 mm

A3 : 160 mm
160 mm

A47:230 mm
230 mm

TRADE THEORY

The purpose of the screw thread in a screw jack is.........

T P T T IS BT I 2

Al : lifting
LB

A2 : transmission of motion

T &7 HeROT

A3 : means of measurement
HIY ST J1Yq

1.0

1.0

0.00

0.00
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74

75

A4 : fastening
EILRIl

TRADE THEORY

A brass shaft is to be turned to a surface roughness R, = 0.8, with high cutting speed, Which one of the following cutting tool
material is most suitable?

fId & M B I BT T B WY Fadg WG U R, = 0.8 F gaa fear srar § Fafafed 7 3 & a1 $1es &1 Suau
I T ST 87

Al : High - speed steel

RIERIGESIS]

A2 : High carbon steel
I Pra 32U

A3 : Low alloy tool steel

oo iy g Tt

A4 : Cemented carbide

LEEGEAEIEE]

TRADE THEORY

To bring the sizes of the steps within limits by finish turning the rough turned dimensions should be..

AT B AT TRUN o MHR B R & HieR aH & g faedt 7 farsht ave © g8 andl e g anfew?

Al :lessin ler;%il and more in diameter

TS ¥ HH 3R A Y 3ifie

A2 : less in length and less in diameter

TS § A 3R A T HH

A3 : more in length and less in diameter
3R g A FH

A4 : more in length and more in diameter

TS ¥ S SR o Sife

TRADE THEORY

For cutting solid brass the most suitable pitch of hacksaw blade is........

BN e B FTed & LRI gl Ta9 Iugad U Hi-ah 82

Al:0.5 mm
0.5 mm

A2 :1.0 mm
1.0mm

A3: 1.4 mm
1.4 mm

A4 : 1.8 mm
1.8 mm

TRADE THEORY

The diamond knurled formation on a work piece is found spoiled due to overriding of the knurls. Which one of the following
statement is not a cause for this defect?

T BT WU TR &S (knurling) &1 BTH 601 W11 8 61 TS (knurls) e 7TH 81 R &1 favre s @ | Fafifd & @ s
DYT T N BT BRI TEI ¢ 2

Al : Chosen cutting speed is not appropriate

T pTeq 1 TIfa Ifera e

1.0
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A2 : Incorrect feed rate

TAd B e

A3 : Work support at the over changing end is not adequate

Sadd gU 3fd B B ) Taied TERT el 8

A4 : Depth of cut is inadequate

NUMERICAL ABILITY AND REASONING
What is the value of 135 times 247 ?

135 x 247 BT AM 187

Al:33345
33345

A2 :34345
34345

A3 :35345
35345

A4 : 36345
36345

NUMERICAL ABILITY AND REASONING N
What is the value of 30% of 600 + 70% of 400?

600 T 30% + 400 T 70% BT I IATS?

Al:360
360

A2 : 460
460

A3:560
560

A4 : 660
660

NUMERICAL ABILITY AND REASONING

What is the value of X, i8966/x = 193.2 2

3R 966/x = 193:2.d1X BT HH T3

NUMERICAL ABILITY AND REASONING
What is the value of 378+ 7/ 0.7 ?

378+ 7/ 0.7 BT HH 33

Al:71.14
71.14

0.00
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80
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A2:73.14
73.14

A3:75.14
75.14

A4:77.14
77.14

NUMERICAL ABILITY AND REASONING
What is the value of V1521 + 31? 1.0 0.00

V1521 + 31 T 9 Id183:

Al:50
50

A2:60
60

A3:70
70

A4:80

NUMERICAL ABILITY AND REASONING;
What is the value of 15% of 550 + 45% of 440? 1.0 0.00

550 BT 15%+ 440 DT 45 %WIIW_QTIT%?

Al:280.5
280.5

A2:282.5
282.5

A3:284.5
284.5

A4 :286.5
286.5

NUMERICAL ABILITY AND REASONING

What is shafi income, I}he s;endsi60% of salary for his family, 15% for his children, 15% for other expenses and remaining amount 1.0 0.00
of a Rs 6,000 is saved?

3R BT UGS BT 60% ST TRAR W, 15% 30 Fedl IR, 15% GOR Gl R aUT /Y § 6,000/- & 90 Bl g af
D! HU AT

Al :Rs 55,000
55,000 24

A2 : Rs 60,000
60,000 2.

A3 :Rs 65,000
65,000 2.

A4 : Rs 70,000
70,000 .

NUMERICAL ABILITY AND REASONING
What is the value of (3m + 5n) - (5m - 6n)? 1.0 0.00

(3m + 5n) - (5m - 6n) BT AF T 72
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85
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86
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Al:2m- 1ln
2m- lln

A2:2m+ 1ln
2m+ 11n

A3:-2m+ 1ln
2m+ 11ln

A4:-2m-1ln
2m- 11n

NUMERICAL ABILITY AND REASONING

What is the area of rectangle in cm?, If breadth of the rectangle is 7 cm and length is twice the breadth of the rectangle?

3R fort ST B SIS 7 em TUT TS, SIS B AT € Al ST BT &TBA em? TAZA?

Al : 96 cm?
96 cm?

A2 :97 cm?
97 cm?

A3 : 98 cm?
98 cm?

A4 : 99 cm?
99 cm2

NUMERICAL ABILITYAND REASONING

How much 8 turners earn, If 6 turners earn Rs 300?

3R 6 TR 300 T. HHIA & dl 8 R [pe-T HHTT:

Al :Rs 325
325°%.

A2 :Rs 350
350°%.

A3 :Rs 400
400°%.

A4 :Rs 450
450%.

NUMERICAL ABILITY AND REASONING

HO;V long w?ll 6 similar pumps take to fill this tank,If 3 pumps take 27 minutes to fill up a tank?

3R 30 Teh b Bl HRA H 27 e A & O 6 77y I T ) WRA | foba1 gwa o

Al : 9 minutes
9 fiFe

A2 : 12 minutes
12foe

A3 : 15 minutes
15 fore

A4 : 18 minutes

18 fire

NUMERICAL ABILITY AND REASONING
What is the value of 3x (4x -2y +5)?

0.00

0.00
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3x (4x -2y +5) BT HM T2

Al:12x% + 6xy -15x
12x% + 6xy -15x

A2:12x2 - 6xy + 15%
12x2 - 6xy + 15x

A3 :-12x2 - 6xy - 15x
-12x2 - 6xy - 15x

A4 :-12x2 + 6xy + 15x
-12x2 + 6xy + 15x

NUMERICAL ABILITY AND REASONING

How much amount would each person get, If an amount of Rs. 61,020 is distributed equally amongst 45 persons?

3R 61,020 F. 45 AN H SRT&R &7 SY Al Gdeb bl feba %, i :

Al :Rs. 1156
1156 2.

A2 :Rs. 1256
1256 3.

A3 :Rs. 1356
1356 2.

A4 : Rs. 1456
1456 2.

NUMERICAL ABILITY AND REASONING
How many Kgs of tea powder will it require for 30 days, Ifa teasshop'réequires 45 Kgs of tea powder for 15 days?

mﬂ%ﬁz‘eﬁaﬁaﬁwaﬁ 15 f&t & foTT 45 ks T PRUTSER D! STER § @l 39 G i 30 feAt b o fae1 argex

Al:75Kg
75 f o

A2:80Kg
80 fop.am.

A3:85Kg
8s fowam.

A4:90Kg
90T 7.

NUMERICAL ABILITY AND REASONING
How much did he sell the motor bike, If Mr.Sathish bought a motor bike for Rs 45,400 and then sold it at a loss of 15% ?

AT A U TGP 45,400 F. H WIS AT ID! 15% T W 99 &M | TP BT faeha Tod Ta1sd -

Al : Rs. 38,290
38,290 %,

A2 : Rs. 38,390
38,390 3.

A3 :Rs. 38,490
38,490°%.

A4 : Rs. 38,590
38,590 %.

0.00
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NUMERICAL ABILITY AND REASONING

How many days will be taken to assemble 48 machines, If a mechanic assembles 8 machines in 2 days? L0

M T Apep 2 FeT W 8 AR b Srdvaredt B AT § af 48 AT b1 Sr&vayett P # fobar fo el

Al : 10 days

10feE

A2 : 12 days

12f&

A3 : 14 days

14feE

A4 : 16 days
16 fa

NUMERICAL ABILITY AND REASONING

What is the side of square in cm, If the area of square is 961 cm?2?

Ife; fadt avf 1 st 061 cmza?ﬁﬁaﬁ'ﬂﬁTcmaﬁ@?

Al:30cm
30 cm

A2:31cm
31 cm

A3:32cm
32 cm

A4:33 cm
33 cm

NUMERICALABILITY AND REASONING
What is the length of rectangle, If the perimeter of rectangle'is 248 mm and breadth is 50 mm? 1.0

Tfe fHdt Smad &1 URATT 248 mm 3R TSTS 50 mmee o1 M B TS Id1S3 ;

Al :70 mm
70 mm

A2 :72 mm
72 mm

A3 :74 mm
74 mm

A4:776 mm
76 mm,

NUMERICAL ABILITY AND REASONING

In how many years the sum of Rs.6000 amounts to Rs 6960 at the rate of 8% per annum? 1.0

6000 3. B 8% TN R T 6960 %, 9 H foraT1 THg T2

Al:1year
198

A2 : 2 years
2

A3 : 3 years
3y

0.00
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A4 : 4 years
499

NUMERICAL ABILITY AND REASONING

What is the principal that earns Rs 300 as simple interest in 2% years at 10% per annum? 1.0

o gaud &1 2% W H 10% aMN® & 9 =T 300 . §AT?

Al : Rs. 1000
1000 2.

A2 :Rs. 1100
1100 .

A3 :Rs. 1200
1200 2.

A4 :Rs. 1300
1300 2.

NUMERICAL ABILITY AND REASONING

Which direction Mr.Basha facing now, If he walked 10 m towards east took a right turn and walked 15 m and;gair? he took a right /1.0
turn and walked 25 m?

i SR 10 m & =M H fFR 15 m <10 FUT AR 25 7). <10 T gt 3@ S9! o= w82

Al : South

&

A2 : North

A3 : South - West

Sheor.ufm

A4 : West

NUMERICAL ABILITY AND REASONING
What price it should be sold to get profit of 10%, If a plot is sold for Rs 19,600 with a loss of 10%? 1.0

Ife TS Wiie BT 10% §IH TR 19,6000, a1 T1 8 @Y 10% ATH YT F P T fFa= e IR 991 o1 91feq «

Al : Rs. 24,200
24,200 2.

A2 :Rs. 24,400
24,400%.

A3"'Rs. 24,600
24,600°%.

A4 : Rs. 24,800
24,800 .

NUMERICAL ABILITY AND REASONING
What is the value for 75a — (-20a)? 1.0

75a — (-20a) BT AF FARA?

Al:-95a
-95a

A2:95a
95a




A3:-105a
-105a

A4:105a
105a

NUMERICAL ABILITY AND REASONING

99 99

What is the value of 15 m3 n* / 5 mn?
15m n*/ 5 BT AH Jarsd?

Al:3m?n’
3m?n’

A2:3mn?
3 mn?

A3:3m*n’
3m*n’

A4:3m?nd

3m?n’

\~

0.00

NUMERICAL ABILITY AND REASONING

100 100

What is the value of Y, If 13y>+ 9 = 10622

Y &1 HF §d183, (S 13y2 + 9 = 1062?

Al:8
8

A2:9
9

A3:10
10

A4:11

N




-No. Correct Answer Key
1 A1
2 A4
3 A4
4 A4
5 A2
6 A3
7 A3
8 A2
9 A1
10 A3
11 A1
12 A2
13 A4
14 A4
15 A3
16 A3
17 A3
18 A2
19 A3

20 A4

21 A2

22 A4

23 A4

24 A2

25 A1

26 A4

27 A1l

28 A4

29 A4

30 A2

31 A3

32 A2

33 A3

34 A3

35 A2

36 A4

37 A1

38 A4

39 A3

40 A2

41 A1

42 A3

43 A1

44 A3

45 A2

46 A3

47 A4

48 A1

49 A4

50 A1

Turner

S.No. Correct Answer Key
51 A3
52 A3
53 A4
54 A2
55 A4
56 A3
57 A2
58 A2
59 A2
60 A1
61 A3
62 A1
63 A4
64 A1
65 A4
66 A3
67 A1
68 A3
69 A4
70 A2
71 A1
72 A4
73 A4
74 A3
75 A1
76 A1
77 A2
78 A3
79 A4
80 A3
81 A1
82 A2
83 A3
84 A3
85 A3
86 A1
87 A2
88 A3
89 A4
90 A4
91 A2
92 A2
93 A3
94 A2
95 A3
96 A4
97 A1
98 A2
99 A1
100 A2






